Exam Name : Physical Education HNGU

Total Questions : 100
Description
Q.1 A normal human body has

YL A Hleld M clu 9.

Question ID:
Marks 1 10090563
No Options Details Correct Option
1 | One Kidney us slSe]
2 | Two Kidneys o] slseil v
3 | Three Kidneys A8l slS-ll
4 | None of these TRV RN EVIEE (S
Q.2 The knee joint is a.......
geulell Aidl _ 8.
Question ID:
Marks 1 10090564
No Options Details Correct Option
1 | Ball & Socket joint olg-Ylse dldl
2 | Hinge joint HloxR1 YLl v
3 | Pivot joint gl ALl
4 | None of these WL US| A 5URL -l
Q.3 Dengue fever is caused by....
Sy dld_ sRelelid 3.
Question ID:
Marks 1 10090565
No Options Details Correct Option
1 | Parasites YAUdl
2 | Bacteria ulse Rl
3 | Virus d1e4 v
4 | None of these TRVEIRNENERET S




Q4 The shape of heartis____
@ed oll ISR 8.
Question ID:
Marks 1 10090566
No Options Details Correct Option
1 | Round Jln
2 | Cone LS v
3 | Triangular [Aslal
4 | Shapeless EEEN
Q.5 Newton's first law of motion is called
*f2oiot] AAfcell Y (U d3]3 vy 8.
Question ID:
Marks 1 10090567
No Options Details Correct Option
1 | Law of Inertia o§Sceleil (44 v
2 | Law of acceleration Ydolell [«yH
3 | Law of reaction Ulleldetl [«dH
4 | Law of action PIRETRCE
Q.6 At the time of release of discus____
Usa YISl dwa
Question ID:
Marks 1 10090568
No Options Details Correct Option
1 | Centripetal force is more than centrifugal Seg M IILIH] 0l A Seg UL 0o sl dy slY
force.
2 | Centrifugal force is more than centripetal So (] (0l 3] SeT @ LH] WO sl dy sl & v
force.
3 | Centripetal and centrifugal forces become 5o DILLIH] 00 3o S UL 6l Qe 1Y 8.
Zero
4 | None of the above GUR Us| 41sURl -ife




Q.7 Factors influencing growth are......

glegal WA SALURAON B,

Question ID:
Marks 1 10090569
No Options Details Correct Option
1 | Heredity v{[ed[QUSdl
2 | Nutrition NNl
3 | Exercise S5dd
4 | All of the above GURASd vyl v
Q.8 The longest training cycle is called
didHi il didli usa _ s& 8.
Question ID:
Marks 1 10090570
No Options Details Correct Option
1 | Micro cycle HIOSL US
2 | Macro cycle HslUs v
3 | Meso cycle HAl Ys
4 | None of the above GUR Usl usunl«ifs
Q.9 The circuit training was first started, explained and studied by____
U5 dIlHofl AU Aed L, UHY A MUY GIR1UAG.
Question ID:
Marks 1 10090571
No Options Details Correct Option
1 | Morgan and Adamson H1Iled 3] A S3Ye v
2 | H. Clarke and D. Clarke VY, 5415 ¥l Sl sElls
3 | Scholich sl
4 | None of the above GURUsl As url-ifs
Q.10 In multiple periodization the number of transitional period should be
He2lud RIS IoMAAU] 2leofldetd UlI1US Sedl ely 8 2
Question ID:
Marks 1 10090572
No Options Details Correct Option
1 | One U v
2 | Two o
3 | more than two ol gl dy
4 | None of these ETRVEI R VIS (S




Q.11 The distance to be covered in men marathon race is

Y2y JRelet 34U VidRell qul1dLL AR B.
Question ID:
Marks 1 10090573
No Options Details Correct Option
1 | 42Km 42 [sy]
2 | 42 Kmand 195 meter 42 [sH] A=l 195 H[eR v
3 | 50 Km 50 [sHl
4 | 21Km. and 97 meter 21[sHl ¥ 97 Hl2R
Q.12 Time shall be taken from the
UHY ol Qaidi 241d 8.
Question ID:
Marks 1 10090574
No Options Details Correct Option
1 | Sound of the gun WESell M|
2 | Flash/Smoke NHUSIRIYHLSL v
3 | Whistle (Mulel
4 | None of these WL US[ W 5URL ile
Q.13 Nephron is a microscopic structure of:
Aglot A YeH tletldR B: -
Question ID:
Marks 1 10090575
No Options Details Correct Option
1 | Lungs s6l v
2 | Heart &led
3 | Kidney [sSeil
4 | Liver YSc
Q.14 The first step in treatment of injuries is :
U %1 Hldosde] welH udL(er] 8.
Question ID:
Marks 1 10090576
No Options Details Correct Option
1 | Cryotherapy PIRNDET v
2 | Hydrotherapy FERREI
3 | Electrotherapy BEERDEI
4 | Thermotherapy I DET




Q.15 Any activity which is performed in the absence of Oxygen is called as:
yleld yefl AelMi % Ugld sAMi +41d a :
Question ID:
Marks 1 10090577
No Options Details Correct Option
1 | Aerobic VR
2 | Aerobic-Anaerobic VRS- 1AR]0d]s
3 | Anaerobic NERE v
4 | None of these WYY 519 el
Q.16 Identify the sequential stages of human growth from early to later stages:
Yo Ratl [A51Aatl e ldel] 2id Hellotl dussial A1oY sHUi 2N
Question ID:
Marks 1 10090578
No Options Details Correct Option
1 | Infancy, Childhood, Adolescence, Adulthood — ¢AURL, WKL, Yd|d], d5d2| v
2 | Childhood, Infancy, Adulthood, Adolescence IR, CAURL, 5L, Ydld]|
3 | Adolescence, Adulthood , Infancy , Childhood Ydldl, dsd], (AURL, MK
4 | Adulthood, Adolescence , Childhood, Infancy ddsdRell, Ydldell, WK, UL
Q.17 Identify the sequential order for a particular lesson from start to end of the lesson:
UL6 W A%eloll e del] wid Yellell A1oY sUaA W)
Question ID:
Marks 1 10090579
No Options Details Correct Option
1 | Teaching, Warming, Lead-up activity, Practice [21&1Ql, GMIURS, |[S-{U Uq [, YeiR |zl
2 | Warming, Teaching, Practice, Lead-up activity GMIURS, [21&1Ql, Yellddel, €lS-34U Ug[d v
3 | Lead-up activity, Practice, Warming, Teaching @1S-4U Uq[d, Yellddel, GMHIURS, [21&18]
4 | Practice, Warming, Teaching, Lead-up activity Yeilddel, GMIURS, (1818, dls-+4 Ug(d




Q.18 Identify the correct sequence of smaller to larger total area of play fields in the following:

Nelololl 9 (Al Ra vllotl &l agal Hlel yeilstl Nelola A1AL SHHI W)

Question ID:
Marks 1 10090580
No Options Details Correct Option
1 | Kabaddi, Volleyball, Basketball, Kho-Kho suigl, dldlodld, ollsendld, Wl-ul v
2 | Kabaddi, Volleyball, Kho-Kho, Basketball, sulgl, dldlofld, Wl-wl, oflRsen{ld
3 | Kho-Kho, Basketball, Kabaddi, Volleyball Wl-Wl, olSe0dld, sulgl, dldloild
4 | Basketball, Volleyball, Kho-Kho, Kabaddi ollxseuild, dldlodld, wl-wWl, suigl
Q.19 Professional preparation of physical education teachers is governed by:
IRIRS (Ae1lefl cAdUIRLS YAYBAL UR B /AW 8:
Question ID:
Marks 1 10090581
No Options Details Correct Option
1 | UGC UGC
2 | AICTE AICTE
3 | NCTE NCTE v
4 | NAAC NAAC
Q.20 Adaptation process in case of beginners is:
(2u41G WalLSIMi ol 5t UlsUuL €1 B
Question ID:
Marks 1 10090582
No Options Details Correct Option
1 | Slower g4l
2 | Faster »sul v
3 | Longer dlodl
4 | None of the above QUMY s1Y <lle
Q.21 A warming-up serves to
A\l uy ol &g UR U3 B.
Question ID:
Marks 1 10090583
No Options Details Correct Option
1 | Decrease in heart rate. ©eUell HOSRL ALY 52l
2 | Increase in body and muscle temperature AR el el lYe] dlUHLed dEllRdl v
3 | increase in lung volume 3{5%{[01 5¢.dyldl
4 | None of these TRVEI RN EIVEE] (S




Q.22 Major food fuel during exercise of long duration is

QoL AHA AL el sUA MU Hud WIS Wadl B,

Question ID:
Marks 1 10090584
No Options Details Correct Option
1 Fat Y|
2 | Protein ulelel
3 | Carbohydrate slulled v
4 | Vitamins [ae Ml
Q.23 What is the colour of the ring of the basket?
wFeulde] o x¥eldledl seR SlY 8.
Question ID:
Marks 1 10090585
No Options Details Correct Option
1 Red qlg
2 | White Use
3 | Orange ETEEN v
4 | Black slal
Q.24 All playing areas in an indoor sports complex must be laid in:
B2 Wl slnaAgiui vyl o Nelotedl (€21l &ldl sl
Question ID:
Marks 1 10090586
No Options Details Correct Option
1 | South-West direction elelRl-ulsdH [eLll
2 | East-West direction Yd-u[&lH [ell
3 | North-South direction Grl-eletul [eell
4 | Any direction slouil [eall v
Q.25 Which is the most effective method of teaching physical education skill ?
ARIRS [Rleisleil sleied 2iluiddle] Hlell HU5125 Uenld 58 B2
Question ID:
Marks 1 10090587
No Options Details Correct Option
1 | Imitation method el 5 Yed [d v
2 | Trial and Error method Ul ulel ¢E Yexl[d
3 | Demonstration method (169l Uer[d
4 | Mirror method YRl Yex[d




Q.26 Seeking Truth, Beauty and Goodness is aim of :

UL, Yerell 1l YRl A Y B:

Question ID:
Marks 1 10090588
No Options Details Correct Option
1 | Pragmatism dsRR&dl dle
2 | Naturalism uLslds dle
3 | Realism dlrdd dlg
4 | Idealism ¥Rl dle v
Q.27 Linear motion is an example of:
Jw alld o GeleWL 8.
Question ID:
Marks 1 10090589
No Options Details Correct Option
1 | Curve running dulsHL £lS
2 | Straight running AlYHL elS v
3 | Running High jump QRIS
4 | Running Long jump qloil §¢
Q.28 Plyometric training is more closely related to
WRAZS didlHa o) seil Aoid B:
Question ID:
Marks 1 10090590
No Options Details Correct Option
1 | Throwers PRGN TR e
2 | Sprinters »sul elsdlR
3 | Middle distance runners HEYH A dRell elsdlR
4 | Jumpers Seetl WalS[ul v
Q.29
In a single knock-out fixture for 16 teams, the number of byes to be given will
g 11 HI2 WS ¢ Wlidd Weldi o1y Mgl ud
Question ID:
Marks 1 10090591
No Options Details Correct Option
1|4 4
2 |16 16
318 8
4 | None s URL «ife v




Q.30 ATP stored in

ATP HidAs YUY 8.

Question ID:
Marks 1 10090592
No Options Details Correct Option
1 | Liver Usd
2 | Muscle Cell il sIN v
3 | Nerve Cell Horsldd siN
4 | None of these TRVEI R ERVERE
Q.31 The main duty of the ‘Marshal’ is an athletic meet is to
NeQ (25 Hleui ' Hield ' ofl Yuat qlofeli] 8.
Question ID:
Marks 1 10090593
No Options Details Correct Option
1 | Discipline athletics W LS[ule [AdAHL AWML
2 | Supervise office S1UIEAA] LU
3 | Conduct march past de ] 3 ylogdl
4 | Drive away unwanted people out of areas dRIX Sl dlslel UMY &2 WA Sl Ve
Q.32 The deficiency of vitamin K causes
[ae1met K <l Grrual IR
Question ID:
Marks 1 10090594
No Options Details Correct Option
1 | Rickets YSdlled
2 | Anemia EAELFHE
3 | Prolonged Blood clotting time dlel dslddle] [sAl doy v
4 | None of these TRVEIRNERYEE
Q.33 Ballistic method is one of the method of improving ......
AaRes uer(d A YaRdlefl X5 uer[d 8.
Question ID:
Marks 1 10090595
No Options Details Correct Option
1 [ Strength Wu
2 | Endurance A&AQ [ 5
3 | Flexibility ool [}l v
4 | Speed HSU




Q.34 The greater number of white muscle fibers are found in :

UdL w1y ddl YiayR xldl 1A 8.
Question ID:
Marks 1 10090596
No Options Details Correct Option
1 | Marathon runner Yl elsdlR
2 | Sprinter »sul elsdlR (Alle2R) v
3 | Cross-Country runner 51U se2l elsdlR
4 | Middle distance runner HeYH 3dR «ll elsdlR
Q.35 Winning phenomenon in sports depends on learning of fundamentals in the following sequence:
RUAH B U2 YNed dedle] (118l «{1Astl s1ui elg 1A,
Question ID:
Marks 1 10090597
No Options Details Correct Option
1 | Skill, Technique, Strategy, Tactics sl ulaly, s, Y[sd Uy [sd
2 | Skill, Technique, Tactics , Strategy sl Uld(y, Ysd Uy[sd, s
3 | Technique, Skill, Strategy, Tactics ulaf, sleIRl, s, Ylsd uylsd v
4 | Strategy, Technique, Tactics, Skill s, uldle, Ylsd uylsd, , sleld
Q.36 Following food components do not produce heat and energy in the body : (i) Protein (ii) Vitamin (iii) Fat (iv)
Minerals State the correct answer from the following code :
o{lAstiHie] suL WIS des) ATRUL Gl Wl 25 Gt scli el (i) Wlelst. (i) [AeHlet (iii) U (iv)
Question ID:
Marks 1 10090598
No Options Details Correct Option
1| (i) and (iii) (i) 41 (i)
2 | (ii) and (iii) (ii) A (i)
3 | i) and (iv) (i) 24l (iv)
4 | (ii) and (iv) (ii) Al (iv) v
Q.37 Planning Physical Education lesson must emphasis on :
IRIRS (e1leti ULs M IAeAH IR Y5l 3] B,
Question ID:
Marks 1 10090599
No Options Details Correct Option
1 | Abody type of learner et Redl 2RIRAL USIR
2 | Efficiency of teacher (2le1sell S1Y &HdL
3 | Time of learning ludledl ¥HY
4 | Age of learner WelReA] BHR v




Q.38

First step in Sports Management is :

Aey AAerNeeH i udg uolfely 8.

Question ID:
Marks 1 10090600
No Options Details Correct Option
1 | Budgeting Ve UA o155] 5]
2 | Co-ordinating Usdsi
3 | Planning WY |%] v
4 | Directing H12IeQle
Q.39 What are the items included in JCR test?
JCR s¥12Ui 58 wlloddlell qu1dLl 1y B.
Question ID:
Marks 1 10090601
No Options Details Correct Option
1 | Vertical jump qelse ay
2 | Chining EIE]
3 | Shuttle Run led £1S
4 | All of the above GURell wul 2 v
Q.40 Wet spirometer is used for accessing ...........
A2 WARMHlR dulddl duRIY 8.
Question ID:
Marks 1 10090602
No Options Details Correct Option
1 | Vital capacity dled &Hdl
2 | Blood pressure dleld eulliL
3 | Pulserate sl e
4 | Flexibility o{Hei [ v




Q.41 Which one of the following pair is correctly match ?

{1 Aol U] ¢ LS ALY A S\ SIA] 8?2

Question ID:
Marks 1 10090603
No Options Details Correct Option
1 | The measure of central tendency - Correlation HrAddl [ReU[dHlel. - YsHoiH
2 | The simplest measure of variable is - Range W4 Rdd| HlUele] 401 HIY - [ddR v
3 | The null hypothesis which is nearly true - Type 2ot BSEUeL Ulel] o1 S - o[l UsIRell ¢
Il error
4 | Historical research - Experimentation B [deL{As velldel - UYLl sdl
Q.42 Match item (a) with ( b) and find out the correct options from the code given below: Item (a ) ltem (b ) 1

Tensiometer ( @) Range of motion around joins 2 Flexo -measure ( b) Work 3

WL152H (a) o (b) AL W1ISL : wLI2H (a) WIS2H (b) 1 er{U1H12R a Aitilefl WY 1%Ye] SeeAUdel [ARdIR R §

Question ID:
Marks 1 10090604
No Options Details Correct Option
1 | 1-B, 2-C,3-A, 4-D 1-B, 2-C,3-A, 4-D
2 | 1-D, 2-B,3-C, 4-A 1-D, 2-B,3-C, 4-A
3 | 1-A 2-D,3-B, 4-C 1-A, 2-D,3-B, 4-C
4 | 1-C,2-A,3-D,4-B 1-C, 2-A,3-D, 4-B v
Q.43 Generally the shape of Normal curve is :
UHLIY I UHIRIAS o) 21512 S1U B
Question ID:
Marks 1 10090605
No Options Details Correct Option
1 | Cone S
2 | Bell gel v
3 | Triangle [=s1Ql
4 | None of these v H Ll 519 ol




Q.44 The value of coefficient of correlation ranges between :
Asioite] [SHdell (AR ....... ol 4 €l 8.
Question ID:
Marks 1 10090606
No Options Details Correct Option
1 00-1.00 00 -9.00
2 | -1.00to 00 -q.00 ¢] 0o
3 | 1.00to 00 .00 ] oo
4 | -1.00to 1.00 -4.00 &[ 9,00 v
Q.45 Statistical test of the significance of discrepancy between the observed and expected results provided by :
U] 5el Wal WU[d URELM a2 (ddlddle} Hecd ldl UletQlsil GUlaL el 8.
Question ID:
Marks 1 10090607
No Options Details Correct Option
1 | ANOVA ANOVA
2 | ANCOVA ANCOVA
3 | Chi-square s19ddl sylel v
4 | MANCOVA MANCOVA
Q.46 Type |l erroris :
U&dl usirel ¢ 2eq.
Question ID:
Marks 1 10090608
No Options Details Correct Option
1 | Reject the null hypothesis when it is true. Qe BesUeil UL Sl wel deil ISR AR, v
2 | Accept the null hypothesis when it is true. Qe BcseUell UL SlU el deil SR LI}
3 | Reject the null hypothesis when it is false. Qe BesUell W 2l eld Al detl welS1R YL,
4 | Accept the null hypothesis when it is false. Qe BcseUell W2l sl Wl dell alslR Y,
Q47 “Trial and Error ” method of learning was invented by ......
Yol WA 47 gI21 Alwdlsfl uer(dsdl 2l ... A 53] &dl.
Question ID:
Marks 1 10090609
No Options Details Correct Option
1 | Thorndike NENEE v
2 | Jung %2l
3 | Skinner 35leR
4 | Wundth ql




Q.48 Ethics of a good teacher ........

ARL (RL&1s<(l [A[dHdl (Ethics) ........

Question ID:
Marks 1 10090610
No Options Details Correct Option
1 | Mastery over the lesson WM U Uecd
2 | Good speaking voice ARL AL
3 | Take safety precautions AGIHAL 9] AHY LAl Y [4]
4 | all of these U Y% v
Q.49 First Teacher’s Training College in India was started at :
MR Al (R1els dielusdl 5189 ... Wid e A sdl.
Question ID:
Marks 1 10090611
No Options Details Correct Option
1 | Lucknow quei]l
2 | Kandivali slleqdl
3 | Chennai DTG} v
4 | Amravati WUl
Q.50 The primary goal of intramural competition is : (I) To provide opportunity for mass participation of students

(I) To participate in Inter-school competition. (I1l) To provide Intra-school competition experience. (IV) To

improve sports performance for

widr3)s Wl wias Ay 8. (1) ([Aaiella eelonl UHIRMi ei1al ddiell ds Yl uisdlell (1) idz Lo

Question ID:
Marks 1 10090612
No Options Details Correct Option
1 [ landll land Il
2 | llland IV llland IV
3 | land lll I and Il v
4 | lland IV Iland IV




Q.51 The data derived through experimental method :
RIS g [del HAd Hiledl :
Question ID:
Marks 1 10090613
No Options Details Correct Option
1 | is not from a natural setting §erdl alledullel «iel Hal v
2 | lacks specific measurement [alll® Hiuetl 4eila
3 | is unrealistic vdldlds
4 | is artificial §lAH
Q.52 Which one of the following is a constraint for adopting historical method of research ?
A(dels Aol 1A w10d sU) (Asey W Vel 53D ?
Question ID:
Marks 1 10090614
No Options Details Correct Option
1 | Lack of technical advancement dseilsl walldeil w4eild
2 | Non-availability of primary data i [Hs HilsdleAl 2y Redl v
3 | Ambiguity of concepts U5 ol WY Rl
4 | Subjective Information dqdaell Hilsdl
Q.53 After completion of work, on a research problem, the report was discussed in a scholar’s meet, and
researcher was suggested to change title of problem and hypothesis based on the data analysis. This is :
A5 uAHRUL YL sUl tle, Wdid Y1l DY sl [41sfl HIRaAu, 241 (AR ddld) 3 Hifed] Yyeusswueil »
Question ID:
Marks 1 10090615
No Options Details Correct Option
1 | Logical and appropriate dllss uel Yoy
2 | Processes systematisation of report vledlda Yeg[dUR sclell Ulsl
3 | lllogical and not desirable WdLsS el w2691 [Y v
4 | Improving the validity of report vled el UHIRIed L Y leley




Q.54 Given below are the steps of a scientific research. Arrange them in order : (1) Formulation of Hypothesis
(2) Development of research tool (3) Identification of research problem (4) Selection of sample (5) Data
analysis and interpretation

{1 w0e ASiLleAs AN tetoll ULl sHHI A6d) : (1) GeseUeil U] (2) AN tel GUSAAeAL 2Us1L (3) U2l

Question ID:
Marks 1 10090616
No Options Details Correct Option
111,23,5,4 1,2,3,5,4
21 1,43,2,5 1,4,3,2,5
313,41,25 3,4,1,2,5
4 |1 3,1,2,4,5 3,1,2,4,5 v
Q.55 which of the following is common in all true experimental and Quasi experimental design ?
AR URILOLS Aloetl 1l Hil215 UIALOLS Alogell Hi WMl s3 AlHI B 2
Question ID:
Marks 1 10090617
No Options Details Correct Option
1 | Control group ERIENET v
2 | Randomization ULe (269501
3 | Pre-testing and Post testing yd sylel Al G sulel
4 | Pre-testing yd sylel
Q.56 Which of the following research need hypothesis testing ?
o{13 U5 sul AN YAA GsUell UsIUReA] AeRUId B 2
Question ID:
Marks 1 10090618
No Options Details Correct Option
1 | Historical research v [dellys velludd
2 | Ex- Post Facto Research B 5y UlRe 52l Hellded v
3 | Ethnographic Research ojcQloLld vlldet
4 | Case Study Research Y [Scl MY Hellted




Q.57 Snowball sampling method

llodle eiystl Ueg(d
Question ID:
Marks 1 10090619
No Options Details Correct Option
1 | Is most preferred technique during survey AL Useg[d e [HA L ALl dy UHedlledl dseils
method
2 | Provides representative sample for WIAL[DLS ey Hie UldlAlt [e2l Ueled 52 &
experimental study
3 | Is suitable to identify sample from unknown VISlLd YH[RHIL [Ae2l MWL HI ALY 8 v
population
4 | Use rolling ball machine to get random sample 1[5 [c1£2l Hordd] Hie UG ¢ld Hellede1] (
Q.58 In a reaction scale, the scale value is from 0 to 5. which of the following scale of measurement is
applicable for the data collected by the scale ?
W5 UldUR Bet GU BHi 36 Ay 0 & 5 8. «[1A U] 5A) Bt HIlE] N 541521 HI2 GUALM] Ad1Ll 2
Question ID:
Marks 1 10090620
No Options Details Correct Option
1 | Nominal scale W HIY
2 | Ordinal scale W sH HIY
3 | Interval scale ARl HIU v
4 | Ratio scale JRIIR HIY
Q.59 How an achievement test is different from Entrance test ?
Rifeg, s:12) uletl wa vl ulaini 2f 55 8 2
Question ID:
Marks 1 10090621
No Options Details Correct Option
1 | Achievement test needs high content validity ~ [d[¢¢ slel URl&IH] G [ANYdrq UHIRIddL
whereas Entrance test needs high construct
validity.
2 | Achievement test needs high construct validity [d[eg sule] UM Rl G UH LRIl &
whereas Entrance test needs high content
validity.
3 | Achievement test needs high predictive (Uleg sUlel Ul ML G YIRBLLIAHS UH LRI ddL
validity whereas Entrance test needs high
content validity.
4 | Achievement test needs high content validity ~ [d[e¢ slel URl&IHI G [ANYdrq UHIRIMddL v
whereas Entrance test needs high predictive
validity




Q.60 What is the main objective of education research ?

(21131 ALl teiotl Huy G221 QY B ?

Question ID:
Marks 1 10090622
No Options Details Correct Option
1 | Grading students [clariea]e oL 4 1udl
2 | Solving education problems [218181el] YHRUIA AL G54 dlddl] v
3 | Training teachers (218151l U211l A ug
4 | Choosing a school el Yy edll sdl
Q.61 What is the first step of research ?
delbele] ueq uallery sy 8 2
Question ID:
Marks 1 10090623
No Options Details Correct Option
1 | Data Collection Hiledl xs4ls0
2 | Data Analysis HllEdle] Yy S5
3 | Identifying the research problem Hellted HHRYL w|nwd] v
4 | Report Writing wEdle qug
Q.62 What does "hypothesis" mean in research ?
AN eeAH “GsUstl” o) wel Q) Uld B ?
Question ID:
Marks 1 10090624
No Options Details Correct Option
1 | Result VIEIETEN
2 | Assumption WajH el v
3 | Proof ULl
4 | Method Ueg[d
Q.63 How many types of educational research are there ?
Q&1 [BLs AN uetell Zedl UsiR §1u B ?
Question ID:
Marks 1 10090625
No Options Details Correct Option
112 2
2|3 3 v
3|4 4
4 |5 5




Q.64 Which area of research is useful for improving the education process ?

dglbeia 53 A (21&1Qle(l WlsAl yulRal 12 GUAl] & 2

Question ID:
Marks 1 10090626
No Options Details Correct Option
1 | Philosophical research dcdStlel Yellted
2 | Scientific research dstilels vQlldet
3 | Action research [sALHS Hellted v
4 | Historical research U[dsLs vLlldsd
Q.65 When is a Type 1 error considered ?
UsIR -9+l ¢e SR ALY ?
Question ID:
Marks 1 10090627
No Options Details Correct Option
1 | When we reject the false null hypothesis W2l gedl Bes&Uellell ISR 5 AUR
2 | When we reject the true null hypothesis UYL el BesUeiloll lSIR SAB /UR v
3 | When we do not reject the false null W2l Qe Bes@etloil WAALSIR o1 5 AUR
hypothesis
4 | When we do not reject the true null hypothesis IRl 2Lt BcEEUed let] WRALSIR ol 5 RUIR
Q.66 Which of the following types of research is known as qualitative research?
of1At1 US] 5] LA Hstel) USI2 ARILHS AL tel dZ WY S 2
Question ID:
Marks 1 10090628
No Options Details Correct Option
1 | Analysis of exam results U[Re1l URBLML [Nl
2 | The sum of the qualities | Rllef YY)
3 | Class attendance calculation s&lleil el AuldRl
4 | Study of student behaviour [cellel[uleil ddetat] YLy v




Q.67 A good academic researcher is

WS YR A&BLs AAus B

Question ID:
Marks 1 10090629
No Options Details Correct Option
1 | Dependent on his teacher Uldlell [2L&1s UR [l € 6.
2 | Follower of research plan strictly ALt Ylowetl YLSULIOYAS WefuR 8.
3 | Open minded and radical Y5 el HNGd [dYIRSs slY 8. v
4 | Highly knowledgeable G slledl sl 9.
Q.68 Which one of the following is not correct ?
o1 Qeli (Atilol U] 53 [Aeilet WG B ?
Question ID:
Marks 1 10090630
No Options Details Correct Option
1 | Any person can do research 516 URL s Yellted s 2Us.
2 | Research may be without a hypothesis GsEUed| AR HulYed UE 2S.
3 | Research requires library facility AlHeASI HI YdSIEU Y[dH ]l e RAULd
4 | Research is not always systemic HQltel SHRLL UlXetlodeg o1l eld. v
Q.69 Which one of the following tools would yield relatively most valid data ?
o1 10l Aelldel GUsNHie]l sUl GUSAA IS HettH Al WisSL UL &) ?
Question ID:
Marks 1 10090631
No Options Details Correct Option
1 | Observation schedule v{ddlsel YRALL v
2 | Rating scale YHLRL HIUe AREI
3 | Opinionnaire w[eulad]
4 | Attitude scale dgel HIUeS
Q.70 The term "research results" refers to -
ANl sl@dielsfl dlRawsll 2ed -
Question ID:
Marks 1 10090632
No Options Details Correct Option

Data analysis and interpretation HllEd o] YUSSAL viel viele]

2 | Deriving conclusions from the interpretation of HL[&dlell Weleed Y[ dRARLl=A] UI[H
data
3 | Deriving results from hypothesis testing Gcs@Ueilo] USIARIL U] U[RRLMAAL dlRd Ll
4 | None of the above GUH ] vs ULl ol v




Q.71 What is the term used to describe the method of gathering information in research?
ANeeAH Beil o3 Hilsdl Anddidi w1d & dal Q) s&dIHi 11d 8 ?
Question ID:
Marks 1 10090633
No Options Details Correct Option
1 | Program SIsH
2 | Treatment Hld%d
3 | Tool Gus:wal v
4 | Sample selection o{Heil UYLl
Q.72 In the operational definition of a variable
Ydefl cldelRs vy M
Question ID:
Marks 1 10090634
No Options Details Correct Option
1 | The meaning of the variable is given. YEet] 1Y UM 2] O,
2 | Avariable is understood as a synonym for Yol YH LA l] 1oy Yed[ HHudH] w1d 9.
another term.
3 | Itis described by providing essential [clay cugRAIHIYT A 1ReY Hiledl 14N dgl
information from various definitions.
4 | Details about the measurement of the variable U@sil HIUel 3{I\el] [cdld A [UHL 211d 6. v
are provided.
Q.73 A reliable test is -
(A elly s5412] A4 -
Question ID:
Marks 1 10090635
No Options Details Correct Option
1 | True measuring test AR Hiudl sylel
2 | Atest that measures the same thing at [cllay qHA AL HIUe 5l sulel v
different times
3 | Non-self-centred test WellcHEell sulel
4 | Practical test del> sylel




Q.74

Through pretesting in tool construction -

GUSL U< M yderer a3 -

Question ID:
Marks 1 10090636
No Options Details Correct Option
1 | Experts are reviewing it. (AN L] ULy vl spAdd ML 2ld €.
2 | Necessary information is obtained from the WRYYell Sl WA IR Ul ulHe] e Hile
characters according to the objectives of the
study.
3 | The items are being collected. 56Hle] 1575 SAHL 41d 9.
4 | Suggestions for improvement are received. {URBLL Aled| YYeil HA O, v
Q.75 What type of tool is useful for measuring a capacity ?
516 &Hdlell HiUel U1 531 USIRe] GUsWL GUA( B 2
Question ID:
Marks 1 10090637
No Options Details Correct Option
1 | Test sylel v
2 | Questioner EEIC]
3 | Rating Scale s$H HIULS
4 | Observation Halsld
Q.76 Research is
N CERNEL]
Question ID:
Marks 1 10090638
No Options Details Correct Option
1 | Searching again and again dlRdl? ellY sdl
2 | Working in a scientific way to search forthe  SIOURL YHRI Il Y=l lludl Hie dstlleis ]d ¢ v
truth of any problem
3 | Finding a solution to any problem S1OURL AHRY -] G54 2lludl
4 | None of the above GURLsdHI] 519 el




Q.77

A null hypothesis is

2ot GeseUotl U B

Question ID:

Marks 1 10090639

No Options Details Correct Option

1 | when there is no difference between the R UGl d S19 dsldd o1 ld v

variables

2 | the same as research hypothesis H2lltel Bs®Yail %] %

3 | subjective in nature ML [sdaell

4 | when there is difference between the variables %12 UGl dR] d§ldd sld

Q.78 The process not needed in experimental research is:

URIELS A=A B U5l %02 <8l d B

Question ID:

Marks 1 10090640

No Options Details Correct Option

1 | Observation WG| 5e

2 | Manipulation and replication WHE[SQL W Yelldded

3 | Controlling ERETE]

4 | Reference collection He AAS v

Q.79 Which of the following statement is correct ?

ol Aet el 53 (deilel AR S ?

Question ID:

Marks 1 10090641

No Options Details Correct Option

1 | Reliability ensures the validity [ detlAdl dledl Yletlsdd 2.

2 | Validity ensures reliability Y ldl [dsddellddl Yleilsdd 52 .

3 | Reliability and validity are independent of [ Mot lAdl 1ol Al dl W suilne] ddA . v

each other

4 | Reliability does not depend on objectivity

(AUt lAdl Ge2d U ALY L[Rd «1<].




Q.80

Aelldel wdalau] 2410 Ay (U

Bibliography given in a research report:

Question ID:
Marks 1 10090642
No Options Details Correct Option
1 | shows vast knowledge of the researcher Hllysey [delln Sile ¢2lld &
2 | helps those interested in further research dy YolluaAH[ 2 Hlddl dlsld Hee 528 v
3 | has no relevance to research Hlldel A1e 516 YAlddl «1el
4 | all the above GURASA dHIH
Q.81 The study in which the investigators attempt to trace an effect is known as:
% @Y UHI AL S] WUR Aledlel YALA 52 B del 241 I1d wd i w1d 8:
Question ID:
Marks 1 10090643
No Options Details Correct Option
1 | Survey Research Ad el velldel
2 | Experimental Research UIIL[3LS HLLlted
3 | Historical Research U[dellus yellusd
4 | ‘Ex-post Facto’ Research A SY-ULR S5l delldet v
Q.82 Fundamental research reflects the ability to:
YA ed At «{1Aefl e Uldoifoid 52 8:
Question ID:
Marks 1 10090644
No Options Details Correct Option
1 | Synthesize new ideals olcl| WLe2Ule] UNGL 59
2 | Expound new principles old| [degldl duosiddl v
3 | Evaluate the existing material concerning Hlldel Hol[tdd eldedll UHAl] HRUISe 5]
research
4 | Study the existing literature regarding various  [d[d¥ [dN] Ho{[td SlEeil Yl[ERAl MUY 53

topics




Q.83 Which technique is generally followed when the population is finite ?

RUIR A UAsd HAED Q1Y UL Ul 1A 56 dSeilsetl GUALL Ml 41d © 2

Question ID:
Marks 1 10090645
No Options Details Correct Option
1 | Area Sampling Technique &3 oHell ddlei] dseils
2 | Purposive Sampling Technique EqUR eiHeil ddlei] dseils
3 | Systematic Sampling Technique d[RUd «iYyeil ddleil dsells v
4 | None of the above GURsdH (el 518 el
Q.84 Research problem is selected from the stand point of:
Aot qHRIL <{lAell ¢[BslIel Ue salHi 41 B:
Question ID:
Marks 1 10090646
No Options Details Correct Option
1 | Researcher’s interest Hllusel [ed
2 | Financial support o LRSI Sl
3 | Social relevance Al L[s YAdlddl v
4 | Availability of relevant literature Hol[td YLlerl-ll Guaoydl
Q.85 Which correlation coefficient best explains the relationship between creativity and intelligence ?
Ul Sl ol uffegHll dell Aot AB A sUL At RIS GlRL AHAd] 2ASIA B 2
Question ID:
Marks 1 10090647
No Options Details Correct Option
111 1 v
2 (06 0.6
3 (05 0.5
4 |03 0.3
Q.86 Which word form is not correct?
Question ID:
Marks 1 10090648
No Options Details Correct Option
1 | Clotheful v
2 | Clothing
3 | Clothed
4 | Clothe




Q.87 Nothing

done when the boss is away.

Question ID:
Marks 1 10090649
No Options Details Correct Option
1 Becomes
2 | Gets v
3 | Been
4 | Got
Q.88 Please, let me !
Question ID:
Marks 1 10090650
No Options Details Correct Option
1 | Think v
2 | Have
3 | Make
4 | Put
Q.89 The professor's lecture was so that many students fell asleep.
Question ID:
Marks 1 10090651
No Options Details Correct Option
1 | Engaging
2 | Monotonous v
3 | Stimulating
4 | Concise
Q.90 Although he was , he remained optimistic about the future.
Question ID:
Marks 1 10090652
No Options Details Correct Option
1 | Wealthy
2 | Jubilant
3 | Destitute v
4 | Fortune




Q.91 Find the wrong term in the latter number series given below G4T, J10R, M20P, P43N, SO0L

oA W0 Goily uul AR W12 Lot 2Nk,

Question ID:
Marks 1 10090653
No Options Details Correct Option
1 | G4T G4T
2 [ J1IOR J10R v
3 | M20P M20P
4 | P43N P43N
Q.92 In a certain relationship M/N means M is daughter of N M + N means M is father of N M - N means M is
mother of N Answer the following question based on data above In the pattern F*G/H - | how is | related to
G?
AlssY AoduHi M/N 228 MxA N ol Y=l & M + N 2128 M3 N <l [Udl & M-N 3128 M 24 N «{l Hidl & Gu
Question ID:
Marks 1 10090654
No Options Details Correct Option
1 | Mother Hldl
2 | Sister W&ol
3 | Niece SRS
4 | No relation 519 doiy oel v
Q.93 Find out the missing number : 4, 9, 20, 43, ...
ujdl vl 0\el: 4, 9, 20, 43, .
Question ID:
Marks 1 10090655
No Options Details Correct Option
1| 84 84
2 |90 90 v
31108 108
4 | 133 133




Q.94

Find the next term of given series. ABD, DGK, HMS, MTB, SBL,

W0 AR{leA) w1210d) Ug, 21E). ABD, DGK, HMS, MTB, SBL, v

Question ID:
Marks 1 10090656
No Options Details Correct Option
1 ZKU ZKU
2 | ZKW ZKW v
3 [ XKW XKW
4 | ZAB ZAB
Q.95 Which of the following is in descending order ?
o1 Aei el 53 Gl SHUI B ?
Question ID:
Marks 1 10090657
No Options Details Correct Option
1 | 5/8,9/13,11/17 5/8, 9/13, 11/17
2 | 5/8,11/17,9/13 5/8,11/17,9/13
3 | 9/13,11/17, 5/8 9/13, 11/17, 5/8 v
4 |1 11/17,9/13,5/8 11/17, 9/13, 5/8
Q.96 Which of the following language does the computer understand ?
51422 o[ Aet Uil 56 HINL UUD B ?
Question ID:
Marks 1 10090658
No Options Details Correct Option
1 | Computer understands only Binary Language = $RJ22 §5d W181] M{INL AHY & v
2 | Computer understands only C Language SRR §5cl C MINL YH% 8
3 | Computer understands only Assembly SRR §5c WUHHE] HINL YHY &
Language
4 | Computer understands only BASIC 5122 §5d BASIC A4 &
Q.97 Which of the following is the brain of the computer ?
o[ Ael el 53 s14229] Holes B ?
Question ID:
Marks 1 10090659
No Options Details Correct Option
1 | Memory HuRl
2 | Arithmetic and Logic unit WSARLA wed dS sH
3 | Control unit DTSR
4 | Central Processing Unit Ae2d UlA[4IL Y[t v




Q.98 Which of the following is the smallest unit of data in a computer ?

51212311 32lol] A&l otloll W 5K of1Ae Ml 53 B 2

Question ID:
Marks 1 10090660
No Options Details Correct Option
1 | Bit Bit v
2 | KB KB
3 | Nibble Nibble
4 | Byte Byte
Q.99 Which of the following unit is responsible for converting the data received from the user into a computer
understandable format ?
o1 Ast i ief] 53 WsH duASdl UIRel]l UIH Sela 5122 »HZ) 2sld ddl slHeHi 2UidRd sdl HIR sdle
Question ID:
Marks 1 10090661
No Options Details Correct Option
1 | Output Unit u1Beye Y[ele
2 | Input Unit Belye Y[ste v
3 | Memory Unit HHR] Y[ede
4 | Arithmetic & Logic Unit B{5IU[Qld Wel d5 A SsH
Q.100 Which of the following service allows a user to log in to another computer somewhere on the Internet ?
{1 Ast i ie]] 58 Adl dURUASALRA B2 UR KIS oflost s1eM ol 8ol 5cllof] HogZl A B 2
Question ID:
Marks 1 10090662
No Options Details Correct Option
1 E-mail 6-Hd
2 | UseNet Yol
3 | Telnet 2dele v
4 | FTP us.elul




